CS 345

Homework 4

Due: Mon, March 16

This assignment is the first of several that will lead us to an implementation of a checkers playing program.  First we explore possible representations of this abstract data type.  I will send you a Pascal program that implements the “Checkerboard” ADT whose operations include 

  Number – count the number of a kind of token on the checkerboard.

  Findredmoves– Generate a list of possible “next” states resulting from a red token move.

In order to debug and test these routines you will need to write others, such as

  Printboard – print the contents of the checkerboard.

  Randomboard – place some game tokens randomly on the black squares of a checkerboard.

1) The implementation I will send you is relatively slow and requires a lot of memory.  An effective checkers playing program will need a better implementation.  You are to reimplement these operations using a representation of your devising.

2) Send me a request for the program.  My e-mail address is hokie@iname.com.

3) Reimplement the operations in a space and time efficient manner

4) Run your program and mine on some test data to measure their speeds.  (My program will demonstrate a reasonable way to do this.)

5) Explain in a few paragraphs of program documentation how your implementation is an improvement over mine.

6) Send me the code and some examples that demonstrate the superiority of your program.
Be creative!
